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Answers to questions carrying 1 mark may be from one word to one
sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

qehsl 3 ‘M Hied ¥ T 50 ARG hl Th HR WAl | A T UhA hl 954
T e IUER T T S® — YW @ aui o fw g s, 20,000
fopeiiex aoh Twr-ges (Tfdfi) 6t gud Jard ot 3ok U FR MR A A
S 9 B Ugd hl g A, 3G | wiferd %59 fed o8 dohl &1 e T T
FR TR STedt T8 Tehed! 3 38 399 H 8 @ 8 | HFal 4 fomr amma
% HR 6 THE-gaE (afdEm) i afra B off genet gg fsareT @ wge T8
o7 | ‘oIl HieH W TEl WNIfRAT TE ¢ W AT | 3T I\ A HHEE H
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Pankaj purchased a car from ‘Abhishek Motors’ for ¥ 50 lakhs. The
company offered many attractive gifts to Pankaj like — free insurance for
first two years, free pick-up and drop facilities for free servicing upto
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of
the car was not good and there was some problems in the engine. The
company serviced the car free of cost but even then Pankaj was not
satisfied with its performance. ‘Abhishek Motors’ is not giving him the
due response. So he filed a complaint in the State Commission but was
not satisfied with its decision also. He was very much disturbed and after

two months decided to appeal against it.

Can Pankaj appeal against the decision of the State Commission ? Give

reason in support of your answer.

2. ‘Vadd AFTd’ fRE YR U O] I US GEEHT o =¥ ol YHIAd Rl & ?
3@ HINT | 1

How do ‘Floatation costs’ affect the choice of capital structure of a

company ? State.

3. ‘e grauid wfdew fafies’ 3 gfesai wa well o qigsd | fafsmar g
& 2 | STk IR H =Sl 9 g ik I8 3Ifud g 9 3 &H W wdl
wd gfesat s foafa =i 2 |

39 I o THF H RV od Y 3g@ hHiC foh Nawser graare afdes’ Hi
SR Yoil shl STEvIshard A BRI AT 3T | 1

‘Reliable Transport Services Ltd.” specialises in transporting fruits and
vegetables. It has a good reputation in the market as it delivers the fruits

and vegetables at the right time and at the right place.

State with reason whether the working capital requirements of ‘Reliable

Transport Services’ will be high or low.
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et o wmeA fafiee’ weh uftg dived yEne s § S gl ud fer & forg
e died JETeET 1 U FIA B | HEAT AU IcAGH S forw diel W e
ATl ST ITANT HLl & R W H H. 1 Gigd JHIEH U8 7 | Ig 7 had AU
NIRRT <l TIE HEA 2 AU 38 T8 <l THEd gean § o favama wad 2 |

‘ot e wed fafee’ g AR 9 arefl fauvH weew staumum Rl
TEIHT |

‘Glow and Shine Ltd.” is a famous beauty brand offering organic beauty
products for men and women. The company uses plant-based materials
for its products and is the No. 1 beauty brand in the country. It not only

satisfies its customers but also believes in overall protection of the planet.

Identify the marketing management philosophy being followed by
‘Glow and Shine Ltd.’

I I el 1 & o Jarg & fagra wehfa @ eud: =agifies g § 2

Why is it said that principles of management are mainly behavioural in

nature ?

‘Srar wfeem’ g (W) W aTelt drsfhd S T IcqTed R @ 3 3R
ISR H 3G THIURR & | a8 95d 3181 9 W@ 8, I B & a9
fosha 5 10% 1 ghg o 7T Il TR I = @1 2 | 30 s 3=
FhIE | IcHTRd BIhL HFIHT oh Ye-d-Heeh 3T 9y fashd § 15% Jhg 1
IRt & WET | 3H 9Y SR ° @ Uit 3 oft gewr fome foees i
HEGHT 39 TET Dl I DA § 3TEHS T |

Y9 o KA1 H T Teh b <hl 3T HHT I TgAT T8k RO w3194
AL k! TTed Hd | 799 W |




‘Bawa Cycles’ was in the business of manufacturing racing-cycles and
had a monopoly in the market. The business was doing very well and the
company was consistently meeting its objective of 10% increase in sales
every year. Encouraged by the good track record, the Managing Director
of the company kept an ambitious target of 15% increase in sales for the
next year. The same year two competitors also entered the market and

because of this the company was not able to meet its target.

Identify the limitation of one of the functions of management because of

which the company was not able to achieve its target.

7.  vdfieror @ w1 AMNIE 7§ ? 1
What is meant by ‘Globalisation’ ?

8. THoISH % T YR o ®94 H g-=AT HI 37 FqsT | 1
Give the meaning of ‘Strategy’ as a type of plan.

9. U fa & gemar ¥ Hired & yri g’ @ 319 S | 3

Give the meaning of ‘Divisional Structure of an organisation’ with the
help of a diagram.

10. ..U, S 9gd @l ¥ S T o 991 @l 2 | 39 98 A
150 A & fSH @ Srfershay srisr-waferor @ o I8 § | 38 HRU
FH-ITEG L 950 St 7 | o7 Fo! A el 1 fovawon &6 & o w 7T
qHG-HETEH-Ja4%, T 1 3w foham | 9di i gt =en fob ot § g
%1 JAT8 3fud T8l @, AN HHATEN o geral a1 FRreprrai ol g & fag =@
I A Ul AE 8 | FFH agd HH AT AT HIERfdh HRIHH A
Hdl B, PUAR! Shaed TEAT A ATd &, 3TUT 1A THTT Hid 8 3 It I1d 8 |
(27) ITee afvla TEI§or STET i IEATHT |
(|) IUYTh TN 11 hl fRE FUf H Ffihd TR ST W1 § ? i@

I |
(@) 39 Aoft 1 Tk T TR T1ET I AHLAST | 3

66/2/3 5 P.T.O.



11.

12.

66/2/3

‘KPM Ltd.” is manufacturing breads and biscuits for many years. It has
approximately 150 employees and most of them are not happy with the
working environment. Because of this the labour turnover rate is very
high. Therefore the company appoints a new Human Resource Manager,
Naveen, to analyse the situation. Naveen finds that there is no free flow
of communication, and there is no suggestion box for the employees to
voice their suggestions or grievances. The company rarely organises a
social or cultural gathering, the employees just come, finish their work

and leave the organisation.
(a)  Identify the communication barrier discussed above.
(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

ISt SITOIR Ud ggT SR & s fEfeifed stewl w st i

(31) il

(¥) 9

Distinguish between Capital Market and Money Market on the basis of

the following :

(a)  Participants

(b) Instruments

IME TR FAwRR e’ o 1Y Th THa&h o &9 § 6 L @& o1, I
A RMGHWT T RN IcqeT B @ off | HEOH HT A Tldied 200 A
G FAT T ICAEA AT AT | IHHI B Ig AT AT oA fob Ieure
I TAfdeT ®9 9 =orar @ 3R 39 foret TR <Al shig o199 37T | 39 UTd
A o foIT 98 et 3T <ar o SR 39 &1 W S <al o foh 3T Ut
foran ST | 97 3E fova wEar on T fvared % SEd g gEeR v gg gl
feu <1 wehd |

3G G ST T8 e Il shl Tg=H ShIfT qAT 3HRT aUF HIT |
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Aarav was working as a supervisor with ‘Neer Purifier Ltd.” which was
producing water purifiers. The target of the company was to produce 200
water purifiers every day. His job was to make sure that work goes on
smoothly and there was no interruption in production. To achieve this, he
always gives orders and insists that they are obeyed. He believes that
reward or punishment both can be given depending wupon the

performance.

Identify and describe the leadership style being adopted by Aarav.

13. faawor greem & 99 Rl SR gralt e fRg yer uwifad e @ 2
gUATST | 3

How do the ‘market related factors’ affect the choice of channels of

distribution ? Explain.

14. SIHIRI® WO % Hew W THN S o fheal =R foeg3l #1 3g@
Eﬁll\\_ﬂQ | 4

State any four points that highlight the importance of business
environment.

15. 3UMIET G0 ATUTH, 1986 o IT=qiid feU U IUMiRl & =1 3rfereprli =l
HASATRY 4
(31) FI H1 AR
(@) frrra 1 AfeR

Explain the following rights of a consumer as provided under
Consumer Protection Act, 1986 :

(a)  Right to be informed
(b)  Right to be heard
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Sron fafies’ e faene wa Iur-unEr areflt ot @ S 9Rdi SR % fae
ATAT%ITd FHI 1 IcdTeA HL @l & | I8 319 3 9@l hl gL ou i Fid
FHET AT 3 AR T8 I A1 arett AfEl T Fas w1 fomm @ R
s Y After AT B9 % ST Sehiiceteh fod hl STEOwIehdT & | HEAT A
ot o fop a8 Twar 3iett o1 S ek Tt wesfra sl | Tman S79m <t S
T 9gd e A Ana (vresE i) ffgd @ | i @ (wdieeE
HIEC) & @l ol T B b (T HEHT 4 g7 FTIR b Tl bl ST T TH
&1 Tt T |

(37) I I & A Frht g1 AR % o Toig 1 TE o g,
3T AT d1d g 39 HHEATST |

(@) 39 o % WeAm ¥ H et srafy % faw fo o wedt R 2
(|) 39 YoiE i 3R fohd 39 o FoIT ST 4 &A= S Hehell @ 2

“Zaira Ltd.” is a large and -creditworthy company manufacturing
air-conditioned buses for the Indian market. It now wants to export these
buses to other countries and decides to invest in new hi-tech machines.
Since the investment is large, it requires long-term finance. It decides to
raise funds by issuing equity shares. The issue of equity shares involves
huge floatation cost. To meet the expenses of floatation cost, the company

decides to tap the money market.

(a) Name and explain the money market instrument the company can

use for the above purpose.

(b)  What is the duration for which the company can get funds through

this instrument ?

(c) State any other purpose for which this instrument can be used.



17. ‘SuRfen forne™’ 9iaushv, UIeHshH-HEH! d shig-arandt fshanet W fsm
i Toenfomt & Hatgior fosm A favamd w@ar & 9o 9 99T i 9 er <
7 | T T feam W fqemer Sl U WS SRishH TEqd T o7 | HrishH
graeft ot wedt <1 Iom s % f9U I8 <@ gE a=1 <l Tk HAd
T8 | 3= 98 Tl forn fh gmee % fow 9 gAafes e w1 T
Ul | ITH Thdl T qH= 1 9ol off 3R 94t HG8 Teh-gal 1 HgalT
® Y | Uik fovam wd AU hl WIGHT o hRUT HIshH aiedd ®9 d
FeIfa e srifea 8 T | Rfamg 3, S 99H S=Ii § ¥ U o1, Ig A
fora fop oo # v & IS ©g Rt | 39 ed 3 YeRy o fafie
fogri § 9 w 1 99 TR B | 98 SRshH Al g%hadl ¥ gadT 3Tty Ui
3T Toh 38 o1 Farsht 1 3t rgra 1 1o syaw™ # 3T o foTe el |
3Gk TUarSil 3 sarn fop o8 98 9 3 39 faged 1 ST R© @ |

(1) PHH hH THAAT o fTT YT fohT T Jerer & fagra sl qg=ne |

(F)  Yavg 6 3 fomwarett #1 3g@ T T W I0TH ATg § T
ST T 8 |

@) Comunfren foume® g wHIS @ gwifva feu o foReEl @ wedt i
UgEH I | 4

‘Adharshila Vidyalaya’ believes in holistic development of students and
encourages team building through a mix of curricular, co-curricular and
sports activities. On its Founders’ Day a stage performance had to be put
up. A committee of ten prefects was constituted to plan different aspects
of the function. They all decided to use recycled paper for decoration. As
there was a spirit of unity and harmony and all members supported each
other with mutual trust and belongingness, the programme was
systematically planned and executed. Arvind, one of the prefects, realised
that unknowingly the group had applied one of the principles of
management while planning and executing the programme. He was so
inspired by the success of the function, that he asked his father to apply
the same principle in his business. His father replied that he was already
using this principle.

(a)  Identify the principle of management applied for the success of the
programme.

(b)  State any two features of management highlighted in the above
paragraph.

(c) Identify any two values which ‘Adharshila Vidyalaya’
communicated to the society.
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‘wfeqes fafuee’ & s 9l g8 90 ol QU T & e FFE g smfad
% wrepedishd Al W wM HE b A AE § | safe wHE wiaws
fafieh TTigeH Sl HIT AL @ 7 | HHATT o TR-IR AT oh HROT THdefeh T
TEq SAH TR R |

gara difve 6 Ty fra yR U=t & HId 9 T 6l gt 38
Tad Y § S G & I o497 Hehal 8 |

3 7 ot o off 3g@ hifore St wHeETiEl S wdders o [l g a8

The workers of ‘Swastik Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.
Therefore the workers are seeking extra guidance from the supervisor
and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of
workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision
of the supervisor.

B 9 20 HHEIE o T IR I TR % fou eretarm fafiee’ am g
& Racle 9 1 TH HE] ITRW Hl | 0 TRER a6l § HEFT 5 q5d
areat & fRar | e 3curg 3T 9 o 3TeR! fauvE off S YR T B/ W
of, JHT $H& IUE I AT & TS | IcUET Hl &M % AT FEET h
rfafc SRt it et e 9 | g, S gEe ER R T o @, B 39
g SR 1 A HET 9S1 | 3 I8 favam on o6 o ol =
JHTEYU & § T A b fore oTefiFeer qui &9 § Teqw, THe Ud |neH-avdd @
3R 379 Uil vl IHEYUl @1 € AN i 1 TG 301 Thd & | 39
Ies INUH fiel iR SPot 9 Shadl 319 IcdTed agMH H Hhiae & iUy
fafir fomarstigsh a1 369 70 IaaTg sjEen & foar o o form |

() 39 JAIYRM ! YgaTT, T T ek g AU ot i Afeh
T3 % o 9 H H&H 8 TR

(9) 39 STEUNON o Hew o fohegl i forgati =l Wt wHemsy |
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Harsh started a company ‘Tiny-Toys Ltd.” to manufacture economical toys
for the Indian rural market, with 20 employees. The company did very
well in its initial years. As the products were good and marketed well, the
demand of its products went up. To increase the production the company
decided to recruit additional employees. Harsh who was earlier taking all
decisions for the company had to selectively disperse the authority. He
believed that subordinates are competent, capable and resourceful and
can assume responsibility for effective implementation of their decisions.
This paid off and the company was not only able to increase its
production but also expanded its product range with different features.

(a)  Identify the concept used by Harsh through which he was able to
steer his company to greater heights.

(b)  Also explain any three points of the importance of this concept.

20. ‘SNu=niies e ki fARIwarsti 1 oo hHifST | 5

State the features of ‘Formal Organisation’.

21. TUsa <@ aul @ S Towas ffies’ 4 w1 = @ 2 | 98 8 & 9fd
Tadu % fou ufdg R | 99 369 afte Yerush HaTtgW gem o Iaeh &t
it 3 I8 g foh e i 31w ugEta & Wl | 9" 39 @left 9g Wl Tk
Tl A HAR AT gRT R T m |t Sl TR gIN | 3Heh R
AT HT IcATg T F TN IR IFHT (e iR 3 o8 o | osEd
ITTH-3TTT I AT U HEAT IE L T 3T 373 A& bl 9o T8l
a1 &t off |
FUR TR T TSt AT oft S 1u iRt 1 T kAt MW <t oft, sifug
I8 ATIeRId g IR ot st off | 3T e & sHagr I IR e fe
3R 39 Hegy fohaT foh 39 TISaTeT # GUR TohaT ST Hehal & | 3 1T ohl
e o fAufa wrereft fowan & wnfier e e o fear o 38w Sw-Eiy
TIH Ja-9 AT B 9 91 TG | 379 e hRTad § a0 I AT off 3R
35k fvare ¥ oft gur g1 IE & T |

(31) ife gra feurfea weeyg o @Rl 1 9gaE ST |

(§) Y9 % 3I9Yh PR % I dd HI AW IR [Eeh! TERAT § TRAT
HISAT o SIGER H R HL Thl |

(@) 39 (9) T UgaH T awa < ol i fasmansti &1 Seoi@ Hifer | 5
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Kavya had been working with ‘Reliable Ltd.” for the last ten years. She
was famous for her dedication towards the work. When the manager
senior to her retired, all her colleagues thought that now Kavya would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Garima’. Because of this, Kavya felt demoralised and her
performance started declining. She would absent herself often and could
not meet her targets.

Miss Garima was a good leader who would not only instruct her
subordinates but also guide and inspire them. She noticed Kavya’s
behaviour and felt that her performance could be improved. She started
involving Kavya in decision-making issues related to the organisation
and made her a member of a high-level joint management committee.
Kavya was now punctual to office and her performance started
improving.

(a)  Identify the function of management being performed by Garima.

(b) Name the element of the above function of management which
helped Garima to improve Kavya’s behaviour.

(c) State any three features of the element identified in (b) above.

T HIOT AIETEA BF A6 i o AT AR I9a 1\ o6 @ o, S 954
s A A 4 | ¥ R T R U fed § 500 Hier ¥ S9W 1 A
HEA ITed TE I @ A | fIvo W Ig gar = b s Terdt W AE
¥ | el AT chl STTACSHAT oh HRUT qAT HHATIT hl HH! o BT HFIH! 30
Fuffa @eai &1 ged 78 T @ 9 99T Sehfcush Saaeensti i SAevaehal
off | Sl 83 AT I QU F % [T HFA 3 ATAH M1 o6 T 66 ATNTh
HETEl h ARl off, | @ 6 fafte faumm & srewet & w9 °
HUT qAT 10 TcIh 98] o efi Srefiee & ®9 § H& HUl | AETD
Tt T SR fafmeansti i W gEiag o= m | 97 off o fomn mn
5 Ted & e o 9gi W nfgansn, fUse qar urfior &= o o g9t
ToRIY A aTel AT T IcATRd i o fIC e & AW | TIeET <l FArrarai
%! ITeh! R I Thid % A1 AT A 6 Qi =718 fohg 1w |
(31) 3Iwh afvid Jawe o ST Sl TEAIHT |
(F) YEIH U YAS HE hI AGRAT & 37§ =N H Iect@ hifo et
i Iwdh 3T =ee | foham o 7 |
(|) " Topeal QF HoAi sl G SHST S HFIH THIS I FFEINT AT =Tl
g |
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A company was manufacturing solar panels for charging of mobiles which
were in great demand. It was found that the target of producing 500 solar
panels a day was not being met by the employees. On analysis it was
found that the workers were not at fault. Due to non-availability of raw
materials and shortage of workers, the company was not able to achieve
the set targets and alternative arrangements were needed. To meet the
increased demand the company assessed that approximately 66
additional workers were required out of which 6 would work as heads of
different departments and 10 would work as subordinates under each
head. The required qualifications and job specifications were also
enlisted. It was also decided that necessary relaxation should be given to
encourage women, persons from backward and rural areas and persons
with special abilities to assume responsible positions in the organisation.
All efforts were made to match the ability of the applicants with the
nature of work.

(a)  Identify the functions of management discussed above.

(b)  State the two steps in the process of each function dicussed in the

above para.

(c) List any two values which the company wants to communicate to

the society.

o o

23. Y=Y & HIRad gl sl HTST : 6
(1) Tgam, T T =afdarg
(§) wHfe fadt & foe safema faadt w1 amdor

Explain the following principles of management :
(a)  Co-operation, not Individualism

(b) Subordination of Individual Interest to General Interest
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‘Taferan fafiee’ w ot @ S focss & Ui 1 3T L @ 7 | fusa
HIH TU I AMAR = A IAd B @ 2 | 39 98 i 98 w3 A
It & H 9% W 8 | HEE % g g Ushs IR wfasy # faskw &+
3T AT ITAeY B | Ig Th Wll-HiTd JaT-4d T & a1 ura, USHR
TN e qAT =S Ui dghai | fava™ TW@dl @ | 39 &gd §
YR g A1 A9 fawr W Ffia s wreaq s vt wfiehar <d & |

HIOHT | TH. AR, I ¥ T 60 ARG I K0T fo7A1 7 R FOT U o AR
AT % PAH % 0 $o ufderai & 1| 2 |

Hro o TR T ITYE avia 3 fafim wreht 61 IR Heha el 7, W1 Ig vl
Ad &, fop wrt grn Y 1 feham s gfgenfa fear S et fomaen wm
foafea feram SITQ |

3% AU @ UfRAl 3gd wd gE W0 fRl 9K R @l UgEie
HHSATRT |

‘Silkiya Ltd.” is a company manufacturing silk cloth. It has been
consistently earning good profits for many years. This year too, it has
been able to generate enough profits. There is availability of enough
cash in the company and good prospects for growth in future. It is a
well-managed organisation and believes in quality, equal employment
opportunities and good remuneration practices. It has many shareholders
who prefer to receive a regular income from their investments.

It has taken a loan of ¥ 60 lakhs from SBI Bank and is bound by certain
restrictions on the payment of dividend according to the terms of the loan
agreement.

The above discussion about the company leads to various factors which
decide how much profit should be retained and how much has to be
distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.
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el et XIIH aTfvrs shi weh foreneff off | 36 fuarst us foham 9 w1 715
1 fofi foped Id & @en 78 Ieaed < farfvm el o qof w9 @ Fgw 9 1 @
TEEHR G 15 1 Wl T Teh AREHH Tl o fae off 99 T | wsh afdiem
% T H 36 I UE 9Tl 715 ol I qedl T fauuE i shl Erdrear W
A H A1 o T | 3k fuarsht 4 38 gema fen o amesi & fa=mi @
Al 1 941 AT % T 98 $ee 1 30A B | I8 qr fop Aforh-eh g H
Fga aAfere A off | 3/ var o o6 A A feufa § 8 qd-Fuifa fafireand 72
Bidi, e HRU Icqe T ThEUdr T hT Hidd Bl & | A9 3IcqE ol
wiEifeEl & i e % T 389 38 Tem-Aie-g. w1 AW faan ofi Sl
e o YR T AYer, Falteeh qd1 G| ames o fafie afoei # e
fean | 387 9% wegy for T 3 9w 39 3cae fawdiew o wagar i |

T TRE F Hed # Rrave % dF T 1 aEEs |

Vasvi was a student of Commerce in class XII. Her father was a farmer,

who grew different varieties of wheat and was well versed about various
aspects of wheat cultivation. He was also selected by the government for
a pilot-project on wheat cultivation. As a project she decided to study the
feasibility of marketing good quality wheat at reasonable price. Her
father suggested to her to use internet to gather customers’ views and
opinions. She found that there was a huge demand for organic-packed
wheat. She knew that there were no pre-determined specifications in case
of wheat, because of which it would be difficult to achieve uniformity in
the output. To differentiate the product from its competitors, she gave it
the name of ‘Mahan-organic-wheat’ and classified it into three different
varieties namely — Popular, Classic and Supreme, based on the quality.

She felt that these names would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.
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